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(1) BV GPTIGR TH T WR 25% T 20% P HIAP Fe TP 480 &. | I7aT ¢ df gars STPT ifpa qrr w8 2
[A] 800

[B] 200

[C] 100

[D] 300

Answer : [A]

Explanation: HIT sifd e =x . x*75/100 *80/100 =800
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(2) 8700 3. BT TAUT Yoo FT GRSt 3 T A1G 15% Wi a9 B g2 A AR 1ol W 37 § 2 1Y 8 39 W IRAfdh Ig7T 71 g1 2
[A]2700

[B]2789

[C] 1897

[D] 2856

Answer : [A]

Explanation: P.W. =100*A /100+R*T =100*8700/100+15*3 =100*8700/145 =6000 ¥. T.D. =8700-6000=2700 ¥=.
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@) f 10 F. i R v e sraftr & sia a@ 10 7. arafas ag1 firaar 2, 9 = o R gt sraftr & sia 9 famn sz frdm 2
[A] 23

[B] 18.33

[C] 71

[D] 43.62

Answer : [B]
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(4) 4 TP Thgiee oI Pt &R WX 2 99 & qTg 37 3380 F. A & ¥a &1 adam goa w1 g4 2
[A] 255

[B] 178

[C] 564

[D] 342

Answer : [A]

Explanation: P.W.= A/(1+R/100)"T = 3380/(1+4/100)"2 =3380%25*25/26*26 =3125 ¥. T.D.=A-P.W =3380-3125 =255
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(5) BIS GHTGR TP U W 25% T 20% B HIAD Fe B 480 7. W IuaT § ol Iars ST Sifthd gea w1 32
[A] 289

[B] 800

[C] 765

[D] 245

Answer : [B]

Explanation: 3~ Jed =01 SUPT 3ifdvd Ted =x x*75/100 *80/100 =480 =800
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(6) TR 3P| BT HaA TSI T-AT S H=AT3HT 12,18 21 9T 28 F | U A faurfora gt 8 2
[A] 97865

[B] 90870

[C] 9243

[D] 9828

Answer : [D]
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(7) ) TAT B} &TaT 120 7. TH 56 e 8 | 39 T4 Y ear 71 R R Y & =T A7 uyaar Jrar o 9 2
[A] 8000

[B] 9000

[C] 1000

[D] 2000

Answer : [A]

Explanation: 1T, =1000 ¥ 99T, 120 T, =12000 T THT. I UHR, 56 T.=56000 T TH. 12000 T FHT. TUT 56000 T FH. DI ATYH TS IS B
TRAT 37 T.9.9. & SRISR 81T | G &1 7.9, T. =8000 °-1 T,
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(8) 7 BT BIE | BICT U B4 AT 8 1 6,9,15,18 F T A W UAP M A 4 AW 2

[A] 45

[B] 364

[C] 786

[D] 542

Answer : [B]

E(xg%la:ati()m; 6649,15,18 BT AL, =(3%3*2*5 )=90 HHT SHTY TBAT =(90k +4) k HT T8 BICT A FTIY (90k-+4) ToTaan 7 F faHad 81 § k=4 iy Tem
—(00*4 +4)=
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(9) &Y T3 BT UFET 180 & TUT IADTH.J. 2 & ol .9, ITd PIfore -

[A]S



[B]8

[C]9

[D] 90
Answer : [D]

Explanation: ¢1.9. =180/2=90

www.myexamportal.com | www.couponlal.com | www.examlal.com | www.joblal.com | www.examyou.com

(10) T8 TS - - TSI HSAT 7T B FORIBT 1050,1250 3N 1650 F HRT S U HHI: 43,31 4T 7 AW T |

[A] 78

[D]53
Answer : [D]

Explanation: 1050-43=1007 1250-31=1219 1650-7 =1643 Gf?ﬁgm=1007,1219,1643 HIHY. =53
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(11) 4.75 SRTH@T g Y FruRor g o gea 2
[A]12/9

[B] 19/4

[C]17/8

[D] 13/9

Answer : [B]

Explanation: 4.75=475/100 =19/4
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(12) TP SATGHL A 25000 3. 3T TS T B, BT 5/12 YN gOR TF B 9YT AT U JaA SIS T I a1 ot ugd iR g QA H AT &
IR ¢ | & Ja4 B T B! fba=11 o fren 2

[A] 190000
[B] 100000
[C] 16000

[D] 150000

Answer : [D]

Explanation: HIT $¢T YT =x F. gﬂi e Bl =5/12 x AT Y =7/12 x-25000 7/12 x-25000 =5/12x +25000 x=150000 F.
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(13) (103 ¥ 10.3 * 10.3-1/10.3 * 10.3+10.3 + 1) BTA§ 2
[A] 2.4
[B]5.6

[C]7.8



[D]9.3

Answer : [D]
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(14) T 1/3.718 =0.2689 B A1 1/0.0003718 HT AT FIT ST ?
[A]0.27865

[B] 2.7806

[C] 3.67532

[D] 2689

Answer : [D]

Explanation: 1/0.0003718 =1074 /3.718 =1/3.718 *10000 =0.2689*10000 = 2689
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(15) f5ft wen ¥ oo Sl @) G-I B 3/5 dsfEai § 3R v de® g afe asihul & TB $12/9 T ASHI ' UTAT PT 1/4 JURRIT 81
o ol BT B T BT fra-T U UG 7 2
[A] 22/30
[B] 13/56
[C] 34/67
[D] 23/30

Answer : [D]

www.myexamportal.com | www.couponlal.com | www.examlal.com | www.joblal.com | www.examyou.com
(16) UT A Q¥ 4R TS UTH BT HR 28 fHUT. § | 19 $H U BT 1/4 U UFHT F HRT ST 8 ITHT HR 19 1. g1 8 | afe 39 2/3 URT Y
I | HRT ST, &Y BT HIR BT -
[A] 5 T
[B] 8 foburt
[c19 fooum
[D] 24 T
Answer : [D]
Explanation: T foh U &7 HR = x kg TUTUMT BT HR y kg € | xty =28 .....(1) TUT x+y/4 =19 .....(2) THL(1) - THI(2) BA W y- y/4 =9 y=12 kg x=
16 kg T8 U1 2/3 HFT HRT G dll UTH &1 a0 =16+12*2/3 =24
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(17) 7T A,B, 94T C e fopfY et urit 5t &t 1 10 fiFe & WR THa 8 | 3rFar a0 A 39 30 e quT 3P 7d B, 40 e # wR
THdl 8 | 3P 79 C 38 WA A fha=m g0y o 2

[A] 10 fiFe
[B] 34 fiFe
[C] 24 fie
[D] 44 fiFe



Answer : [C]
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(18) S 99 A 3R B U ! Bl HHI: 36 fi1E 9 45 e # WR T4 8, fpal fiie 1¢ a1 B &1 a5 & & a1fh ¢t 24 e # wR wTe-
[A] 15 fiFe
[B] 34 e
[C] 89 fiFe
[D] 44 fiFre
Answer : [A]
Explanation: 1T X fiFc 918 90 B &1 5 B34 & | Al 1F1 7 X e 37 PR =(1/36 +1/45 ) *X =X/20 I8 AT H A WM = 1/36 *(24-X ) HTT
X/20 +24-X/36 = 1 (9x+120-5x) /180 = 9x +120=-5x =180 4x = 60 x=15 foC
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(19) QY a1 A G B Uh ¢} ) HHTT: § 9 12 G0 H HY b ¢ | TP JIERT el C S 6 YU H Wrell B FebelT ¢ | afe A1 71 v g1y @t
o oe <t gane ot foreq o ® wR waatt |
[A] 12 90
[B] 24 G0
[C] 89 IUC
[D] 34 G0
Answer : [B]

Explanation: A T 1 G0 & 4RAT S =1/8 HFT B 7d 1 U & HRAT  =1/12 HFT C 7Td 1 YU H Wl AT § = 1/6 HFT A bt | g0 F R0 = 1/8
+1/12 -1/6 =3/12 T 1/24 34T b1 T 4Rt = 24 GO
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(20) 14 A, =T & Bt 90 A U 5 fHHY. / HUeT B @R A TP ATAATHR bl B 98 36T © 9l 50 Hex awl 3R 44 Hex At g | IucH |
7 99t 9% Uit fai 3§ wR Sme 2

[A] 2T

[B] 4 °¢

[C] 8 &

[D] 1€¢

Answer : [A]

Explanation: TH! &1 YTRdT = 50 *44 *7/100 = 154 HeXA3 TA Y 1 G T F8 aTel I8 BT I =22/7 *7/100 *7/100 *5000 = 77 HIEX 2 TH1 Bl
WRA T I = 154/77 =26
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